STATE CURPURATION CUMMISSION OF MANSAS	API NO. 15- 055-21825 -00-00
OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM ACO-1 WELL HISTORY	County Finney County Ap. 70'W of
DESCRIPTION OF WEAT AND LEASE TO A	SE SW NW Sec <u>12</u> Twp. 22S Rge <u>34</u> W
Operator: License # 30606 UNFILENTIAL	2975 S Feet from S/N (circle one) Line of Section
Name: Murfin Drilling Co., Inc.	4030 E Feet from E/W (circle one) Line of Section
Address 250 N. Water, Suite 300 RECEIVED	Footages Calculated from Nearest Outside Section Corner: NE, SE, NW or SW (circle one)
City/State/Zip Wichita, KS 67202	Lease Name Skipper Well # 1-12
	Field Name Tanker
Operator Contact Person Tom W. Nichols KCC WICHITA	Producing Formation Morrow
Phone (316) 267 - 3241	Elevation: Ground 2911 KB 2921
Contractor: Name: Murfin Drilling Co., Inc.	Total Depth 4850 PBTD
License: 30606 MAR 29 2004	Amount of Surface Pipe Set and Cemented at 1901 Feet
Wellsite Geologist: Paul Gunzelman Designate Type of completion CONFIDENTIAL	Multiple Stage Cementing Collar Used? Yes X No
Designate Type of completion X New Well Re-Entry Workover	If yes, show depth setFeet
Oil SWD SIOW Temp. Abd Gas ENHR SIGW	If Alternate II completion, cement circulated fromfeet
X Dry Other (Core, WSW, Expl., Cathodic, etc)	depth to w/ sx cmt. ALT I W fm 12-19-06 Drilling Fluid Management Plan
If Workover/Re-Entry: old well info as follows:	(Data must be collected from the Reserve Pit)
Operator:	Chloride contentppm Fluid volume2500 bbls
Well Name:	Dewatering method usedEvaporation
Comp. DateOld Total Depth	Location of fluid disposal if hauled offsite:
Deepening Re-perf. Conv. to Inj/SWD Plug Back PBTD	Omerates News
Commingled Docket No.	Operator Name
Commingled Docket No. Dual Completion Docket No. Other (SWD or Inj?) Docket No.	Lease Name License No
2/03/04 2/15/04 2/15/04	Quarter Sec. Twp. S Rng. E/W
Spud Date Date Reached TD Completion Date	County Docket No.
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82 held confidential for a period of 12 months if requested in writing and submitted with the all wireline logs and geologist well report shall be attached with this form. ALL CEMEN wells. Submit CP-111 form with all temporarily abandoned wells.	-3-130, 82-3-106 and 82-3-107 apply. Information on side two of this form will be form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of ITING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged
All requirements of the statutes, rules and regulations promulgated to restatements herein are complete and correct to the best of my knowledge	egulate the oil and gas industry have been fully complied with and the
Signature	K.C.C. OFFICE USE ONLY F Letter of Confidentiality Attached C Wireline Log Received C Geologist Report Received Distribution KCC SWD/Rep NGPA
Notary Public WYSTIN CHINAIN	KGS Plug Other (Specify)
Date Commission Expires 2/06/08	

KRISTIN GRADY NOTARY PUBLIC STATE OF KANSAS My Appt. Exp. 2106/08

Form ACO-1 (7-91)

Operator Name	Mudfin Drillin				ne <u>Skipper</u>	Well # <u>1-12</u>	***************************************	
Sec12_ Twp.:		_ <u>W</u>	□ East West	County_	Finney			
unie toor oben a	na ciosea, nov	ving ana sniir-in i	messures whe	PINAT Chilt_in nra	ecura raachad eta	tion of the shapet.	ill stem tests giving interval tes ostatic pressures, bottom hole needed. Attach copy of log.	
Drill Stem Tests (Attach Addit		■ Yes [□ No		ation (Top), Dep		ns Sample	
Samples Sent to	Geological Su	rvey ■ Yes □] No	Name		Тор	Datum	
Cores Taken		□ Yes ■	■ No	SEE ATTA	CHED LIST			
Electric Log Ru (Submit Copy List all E.Log	.) Dual (■ Yes □ Compensated Por , Microresistivity	No osity,Dual Log					
CASING REC Report all stri	CORD _ Nev ings set-condu	v Used ctor, surface, in	termediate, p	production, etc	•			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12 1/4	8 5/8		1901	Common	150	3%сс	
					Lite	550	3% сс	
F		ADDITIC	NAL CEME	NTING/SQUE	EZE RECORD			
Purpose: _Perforate Protect Csg _Plug Back TD Depth Top/Btm Type of Cement Used Used			Type and Percent Additives					
Plug Off Zone								
Shots Per Foot				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
0	None							
TUBING RECO	ORD Size	Set At Pack	er At	Liner	□ Yes	□ No		
Date of First, Resumed Production, SWD or Inj. Producing M ☐ Flowing				Method ☐Pumping	g □ Gas Lift	☐ Other	The state of the s	
Estimated Produ Hours	uction Per 24	Oil Bbls	Gas	Mcf	Water Bbls	. Gas-Oil	Ratio Gravity	
Disposition of Ga	ns:	метн	OD OF COM	IPLETION]	Production Interval	
☐ Vented ☐ Sol (If vented, submit	d □ Used on t ACO-18.)	Lease	Hole □ Per (Specify)	rf. 🗆 Dually Co	omp. 🏻 Commin	gled _	as above	

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

RECEIVED

MAR 9 0 2004

KCC WICHITA

Invoice Number: 092295

Invoice Date: 02/10/04

NVOICE *

KCC

MAR 2 9 2004

CONFIDENTIAL

Murfin Drilling Co. Sold

To:

250 N. Water, St. #300

Wichita, KS 67202

Cust I.D....: Murfin
P.O. Number..: Skippers 1-12
P.O. Date...: 02/10/04

Due Date.: 03/11/04 Terms...: Net 30

Ttem I D /Desc Oty Used Oty Unit Drice Price	$\overline{}$
The first of the first of the control of the contro	- T'X
Common 150.00 1252.50	
Chloride 22.00 SKS SKS 30.0000 660.00	
Lite 550:00 4042.50	
FloSeal 138.00 IBS 1.4000 193.20	
Handling 722.00 830.30) E
Mileage (60) 60.00 MILE 36.1000 2166.00) F
722 sks @\$.05 per sk per mi	′ "
Surface 1.00 JOB 850.0000 850.00	13 F
Mileage pmp trk 60.00 MILE 3.5000 210.00	
Rubber Plug	
Guide Shoe	. ,-,
ARU Insert 1.00 EACH 242 0000 242 0	
Centralizers 3.00 242.00 99.00	
All Driggs Ave Not 100 Descriptions of the second s	
All Prices Are Net, Payable 30 Days Following Subtotal: 10810.50	
Date of Invoice. 1 1/2% Charged Thereafter. Tax 425.51	' '
If Account CURRENT take Discount of \$ 1081.05 Payments: 0.00	
ONLY if paid within 30 days from Invoice Date Total: 11236.01	
AFSORAL Rig No. Arround Coscription 10 8(a)	
108105	3
0000 1014 90 1000 11000.01 1 11001 J. C.g.	
(1081.05)	1,96
The same of the sa	
The state of the s	
DV	
A CONTROL OF THE PARTY OF THE P	
The state of the s	
the state of the s	
] :

NTING CO., INC. 43729
141114G GO., 114G. 12729
UNDACINI
IAR 2 9 2004 SERVICE POINT:
SERVICE POINT:
CALLED-OUT ON LOCATION JOB START JOB FINISH 2.00 PM 7:10 PM
1 2.00141 Si45PM 7:100PM
Ennis Twis Els Finner KS
OWNER Same
CEMENT
AMOUNT ORDERED 1505ks Can 390CC
5505Ks Lite 39 CL /A Pla. Seal
_ COMMON 150 5KS @ 8.35 1252,50
POZMIX @
GEL @
CHLORIDE 22 sks @ 3°.00 660.00 Liteweight 580 sks @ 7.35 404250
Liteweight 3305KS @ 1.35 404280
F105-91 138 4 @ 1.40 193,20
<u> </u>
@
- HANDLING 722 5KS @ 1.15 830.30
MILEAGE 54/5K/mile 2166,00
RECEIVED
RECEIVED TOTAL 9144.50
RECEIVED TOTAL 9144.50
MAR 3 0 2004 SERVICE
MAR 3 0 2004
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB
MAR 3 0 2004 KCC WICHITA Depth of job Pump truck charge 850.00
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE @ Output EXTRA FOOTAGE @ Output Depth of job PUMP TRUCK CHARGE Output Depth of job Output Depth of job
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE @ Output EXTRA FOOTAGE @ Output Depth of job PUMP TRUCK CHARGE Output Depth of job Output Depth of job
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00
MAR 3 0 2004 SERVICE KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M.les PLUG 875 Fubber @ 100.00 @ 1160@
MAR 3 0 2004 SERVICE KCC WICHITA Depth of job PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00
MAR 3 0 2004 SERVICE KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00 PLUG 878 Kubber @ /00.00 PTOTAL 17744.30 TOTAL 17744.30
MAR 3 0 2004 SERVICE KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M.les PLUG 875 Fubber @ 100.00 @ 1160@
MAR 3 0 2004 SERVICE KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00 PLUG 878 Kubber @ /00.00 PTOTAL 17744.30 TOTAL 17744.30
MAR 3 0 2004 SERVICE KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00 PLUG 878 Kubber @ /00.00 PTOTAL 17744.30 TOTAL 17744.30
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m/es @ 3.50 210.00 PLUG 8/8 Subber @ 100.00 FLOAT EQUIPMENT Cause shoe @ 165.00 BEH 205ert @ 2.92.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m.les @ 3.50 210.00 PLUG 888 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 292.00 3-Centralizers @ 33.00 99.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m./es @ 3.50 210.00 PLUG 888 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 292.00 3-Centralizers @ 33.00 99.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m.les @ 3.50 210.00 PLUG 888 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 292.00 3-Centralizers @ 33.00 99.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m./es @ 3.50 210.00 PLUG 878 Kubber @ /00.00 PLUG 878 Kubber @ /00.00 FLOAT EQUIPMENT CAULLE Shoe @ /65.00 BFU INSERT @ 33.00 99.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00 PLUG 875 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 165.00 AFU Insert @ 292.00 B-Centralizers @ 33.00 97.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 m./es @ 3.50 210.00 PLUG 878 Kubber @ /00.00 PLUG 878 Kubber @ /00.00 FLOAT EQUIPMENT CAULLE Shoe @ /65.00 BFU INSERT @ 33.00 99.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 60 M./es @ 3.50 210.00 PLUG 875 Hubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 165.00 AFURNSETT @ 292.00 3-Centralizers @ 33.00 97.00 TOTAL 506.00
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE CO n./es @ 3.50 210.00 PLUG 878 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 165.00 BFU 205er @ 272.00 3-Centralizers @ 33.05 97.00 TOTAL JOb. 60
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE CO MILES @ 3.50 210.00 PLUG STR Kubber @ 100.00 FLOAT EQUIPMENT CAUDE Shoe @ 165.00 BFU INSERT @ 242.00 3Centralizers @ 33.00 97.00 TOTAL SOC. VO
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE CO n./es @ 3.50 210.00 PLUG 878 Kubber @ 100.00 FLOAT EQUIPMENT CAULLE Shoe @ 165.00 BFU 205er @ 272.00 3-Centralizers @ 33.05 97.00 TOTAL JOb. 60
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE CO MILES @ 3.50 210.00 PLUG STR Kubber @ 100.00 FLOAT EQUIPMENT CAUDE Shoe @ 165.00 BFU INSERT @ 242.00 3Centralizers @ 33.00 97.00 TOTAL SOC. VO
MAR 3 0 2004 KCC WICHITA DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE CO MILES @ 3.50 210.00 PLUG STR Kubber @ 100.00 FLOAT EQUIPMENT CAUDE Shoe @ 165.00 BFU INSERT @ 242.00 3Centralizers @ 33.00 97.00 TOTAL SOC. VO
- Actions

ALLIED CEMENTING CO., INC.

P.C. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 CONFIDENTIAL

ORIGINAL

Invoice Number: 092343

Invoice Date: 02/16/04

Sold Murfin Drilling Co.

To: 250 N. Water, St. #300

Wichita, KS

67202

RECEIVED

MAR 3 0 2004

KCC WICHITA

Cust I.D. Murfin

P.O. Number Skipper 1-12

P.O. Date 02/16/04

Due Date.: 03/17/04 Terms:: Net 30

Item T.D./Desc. Qty. Used	Unit	Price	Net war	TX
Common and a final final state of the state				
POZMÍKX Řepři po přemoce program sport post po te maj post na propositi O 4 gr O O com se monely sou postave major postave program se	WAKS	~~~~3~8000	357.21	<u>ነ</u> ጠ
Ge Trans का प्रकार के ता का अपने का का अपने का का अपने का का अपने का अपने का अ अपने के का	SKS	10:0000	120200)*>T-
HOUR CONTRACTOR SECTION OF THE PROPERTY OF THE	SKS	1.1500	270.2	5 T
Mileage: (60)	MILE	11.7500	705.00) ጥ
235 sks @\$.05 per sk per mi		Karajaran an arabahan ara	t we down with a contract	· · · · · · ·
Plug Commentation of the continue of the conti	JOB · · · · ·	~~`630`.0000`~	630.00) T
Mileage pmp trk 60.00	MILE	3.5000	210.00) т
Dryhole plug			23.00	,
All Prices Are Net, Payable 30 Days Followin Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$349.2 ONLY if paid within 30 days from Invoice Date of the Payable Strong Topics of the Payable 30 Days from Topics Date of the Payable 30 Days from Topics Date of the Payable 30 Days from Topics Days Following Days Fo	Payme	्रम्पारी क्रिकेट व्यक्तिक व्यक्ति क्रिकेट क्रिकेट व्यक्ति क्रिकेट व्यक्ति क्रिकेट क्) - 35 - 35



IED CEMENTING CO., INC. 13605
KCC ARIGINAL

P.O. BOX 31 RUSSELL, KANSAS 67665 REMIT TO

MAR 2 9 2004

2-14- DATE	-04	SEC.	TWP. 22 S	RANGE 34 W		PERVOUAL	ON LOCA	OAM 1	430AM	JOB FINISH 5:30 AM
SKIPPS LEASE	eR.	WELL#	1-12			5w-	STE IN	to 601	WINTY WUXEY	STATE
OLD OR	EW (Cir									
CONTRAC		MUR	FIN D	RL6 RI	6#14	OWNER	SAI	ME		
TYPE OF JO		- 57	7/ /	<i>i</i> 1 e	850	CEMENT				
HOLE SIZE			g T.D. DEF		<u>, , , , , , , , , , , , , , , , , , , </u>	AMOUNT	ORDERED 2	2.35 SKC	60/4000	262626
CASING SI			DEI			111100111				
DRILL PIP		14	DEF		146					
TOOL			DEF				م ا این	- 60 -	035	117735
PRES. MA	X			IMUM		COMMON		<u> </u>	7 70	35720
MEAS. LIN			SHO	DE JOINT		POZMIX	943	<u>だ</u> 。 だ。。	7 000	120
CEMENT I	<u>LEFT IN</u>	VCSG.				GEL CHLORIDI		<u>/</u> @	10 40	
PERFS.	n arnitr					CHLOKID	<u> </u>	@		
DISPLACE	EMENT							 @		
		EQU	JIPMENT					@		
				5 A ()/				@		
PUMP TRU	_	CEMENT	ER	ERRY				@		-222 35
BULK TRU		<u>HELPER</u>		HINC		HANDLIN			1-63	705 8
# 218		DRIVER	./	MIKS_		MILEAGE	OSAPE	CSK/M	4/5	. <u> </u>
BULK TRU						RECEIN	/FN		mom t	26298
#		DRIVER				Ç			TOTAL	
						MAR 3 0	2004			
		RE	MARKS:			KCC WIG	СШΤΔ	SERVICE		
100 5	· Va	A+	314	V. (NCC WIL				
	sns SKs	A+	197	<u>~</u> /		DEPTH OI	F JOB		3140	7 600
	SKS	AH	800	<i>J.</i>			UCK CHARC	GE		630 4
	SKS	At	40	/		EXTRA FO	OOTAGE	@		
15	SKS	RAT	Ho!	٤,		MILEAGE		OME @	350	2/0 %
10 3	5.Ks_	Mous	E Ho	78		PLUG	78 DRY			
					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
				~// / /\	7-11			@		
			7	HAROK \	<i>x</i> 04					863 %
		44 44							TOTAL	_ 005 =
CHARGE	TO:	MURE	IN OR	16, CO,						
STREET							FLO	AT EQUIP!	MENT	
CITY		S	TATE	ZIP_						
To Allied	Camar	nting Co	Inc			***************************************		@)	
		_		menting equ	ipment					
				assist owner					TOTAI	
contracto	r to do	work as i	is listed. T	he above we	ork was					
				of owner ag		TAX				
				d the "TER						
CONDIT	''NONS	listed on	the revers	se side.		TOTAL C	HARGE			
						DISCOUN	TV		IF PA	ID IN 30 DAYS
										•
SIGNATII	IRE	Mi	B	1.						
210111110		· y uv	ns R	KHO WA				PRINTED	NAME	
		-								